Subject: Re: 2017 Ghana Maternity and Health Survey abortion calculation
Posted by Imallick on Tue, 26 May 2020 12:19:57 GMT

View Forum Message <> Reply to Message

Dear user, to follow up, you should use the BQ file.
Here are the steps to match table 6.1.:

*generate weight
gen wt = qweight/1000000

*time in months since birth/termination using cdc
gen pregend = int((qgintcd - q215cd)/ 30.4375)

*all pregnancies that occured in the last 5 years
gen pregall5yr = 1 if pregend <60

*tabulate pregnancy outcome among pregnancies in the last 5 years
ta q212c if pregall5yr ==1 [iw=wt]

Thank you,
Lindsay Mallick
Lead Analyst

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=8076
https://userforum.dhsprogram.com/index.php?t=rview&th=8883&goto=19306#msg_19306
https://userforum.dhsprogram.com/index.php?t=post&reply_to=19306
https://userforum.dhsprogram.com/index.php

